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N = 0] &F AF S & AN A
201908 &= 20l A LB H SUS
2N sUHs
HEM: SUHS AHEAHH]
Sl BISXME HASY L BOALTE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
EN =S 397,630 333,261 64,369
SWsS AFE ] 310,570 215,800 94,770
HEEXNLAH HASE L HHOAIEXE 219,380 124,960 94,420
FOXXNAHSH 88,300 88,300 0
201 2Et2Hy| 15,300 15,300 0
01 AP 2t 2] H| 15,300 15,300 0
OHdgH&yg LBt=2H| 6,300,000 6,300
OfE4+< 30,000& x25%H x12& 9,000
301 et A= 73,000 73,000 0
09 SHAIAHI B A2 3,000 3,000 0
OFUNXFALNE A2E L LS A8
(13l) 100,000& *25%H 2,500
OF0UNXNEZ)H 29 500,000& 500
12 JIEtE &= 70,000 70,000 0
O AEE 70,000,000 70,000
FOIEHOI AL X & 113,080 36,660 76,420
201 Bt 35,180 34,460 720
01 AP 22| H| 5,280 3,660 1,620
OFANLRIHAIAL 2d= 155,000& ~12& 1,860
O A HIE HAH| 1,500,000 1,500
OFI|I(10H) & ZIJ|EAD|(304)ex=
1,920,000 1,920
02 2224 H| 29,900 30,800 »A900
OXeES Xl (2CH) 7,000,000& 7,000
OAFR &l 2t2| bl 1,800,000 x12& 21,600
QULE)|] SXIZ2IHI(HAE ) 1,300,000 1,300
203 € R =& 2,700 2,200 500
03 AIEH =X 2 F X Y| 2,700 2,200 500
OsUE SHYRAIH#FZX 2,700,000& 2,700
401 Al HI L 2 0HHI 52,000 0 52,000
01 Al& H| 52,000 0 52,000
OFQXX T2 =24 XH ZA
52,000,000 52,000
405 XHoHFE S HI 23,200 0 23,200
01 XA E B F S| 23,200 0 23,200
OFXX T2 =24 HE 2 23,200
-HH&A 4,000,000 *2CH 8,000
-S & & 3,000,000 =1CH 3,000
-SHAIE HE 500,000 =64 3,000
-=2AZE I} 280,000& =154 4,200
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-2 Xt 100,000& *30H 3,000
-2 A 200,000 =124 200
-SI0IEEE 400,000 =14 400
-2& 300, 0002 *2H 600
-HE 800, 000& =14 800

AQlate stotSHM=EU3 18,000 0 18,000

201 Let24] 18,000 0 18,000

03 A2 I 18,000 0 18,000
OAlIglstg &t 18,000, 000& 18,000

SClBtEES2 4 89,390 89,040 350

ScletEasE2aNd 89,390 89,040 350

301 et a = 89,390 89,040 350

0 sE-0% -8 = 89,390 89,040 350
osd=¢ 200,000& 23" x12& 55,200
OsZdN= 200,000& *23H 23| 9,200
OsH3gasdg 20,0003 x23H 23| x 128 11,040
OgtE & =l 50,0003 279 13| 13,950

SEE =X R FA 1,800 1,800 0

S At 22l At 1,800 1,800 0

202 04 dl 1,800 1,800 0

01 = LH 4 HI 1,800 1,800 0
O%X&EE =X =& o4yl 1,800,000& 1,800

HY2IZH (BUHS) 87,060 117,461 A 30,401

J=2ZH(sUs) 87,060 82,180 4,880

Jl=2Zdl(sUs) 87,060 82,180 4,880

201 Let249] 45,560 44,560 1,000

01 At 22l 17,000 17,000 0
ORN2EANIH 17,000,000& 17,000

02 Z=2Z4l 28,560 27,560 1,000
OHIIRS 19,000, 000& 19,000
O=HRERS 8,000,000& 8,000
OSEUIET R 65,000 20 122 1,560

202 (44l 30,900 27,060 3,840

01 S LHOIYI 30,900 27,060 3,840
OsZ3ge+d 2,100,000& 2,100
OJlzgR==H 28,800,000& 28,800

203 YR =2t 10,600 10,560 40

01 JI22ZYR=F 7,000 7,000 0
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